








\ : = v =1
'f“:f.“. fio 7y = F}Jr """?f”-l_ff"r{ f?frTrr?'F;f{ = 'q({‘ TeAT # 20km~ Tf‘f””!dh‘q'
= Az epfed 3T F AR 10k e B 16T fed
T-'QTHT ¥ E?,-T']F‘I{ 20 kM —=Toidl ‘i.g‘ ?d’-.!’.l_{'fm:'?;l _I;_-_?".;” = ’3.?“'1_'_"4_
10.km ~ToT & . 7% &7 Gof ayrir AT ¥ 3720 ke
T ¥ @ o arfee v
Prrarfetas gt %1 a7 aifee ¢
1 LT 3 T TR T fogr 5% P
. | J
2, CIR ﬁ' ET0T3 '/;i;-.‘:?“ ﬁg::u?" H- i‘-"?
3 TG 7T Wﬁ-‘rﬁ < bl gl 7
L g3 P
4. =7 & Wff\m a_ sﬁa"ﬁ" gﬁ,\,rrg* ‘/:m‘rﬁm“rf ? |
R G T“A‘ME{_’?E_E arfars] yEat A .Ec.:'{aa:;;;r:ir &
&M g y Zokm > SREFHA oraIaTr 1&'{,'&;%‘@;;?’.&.

¥ - 10 I‘-'m-h‘*-;.:__ _:.l_;-rl_]'-?'lttff' E’-‘:‘;-,-:f_

2
LY

Z0Em .

10Em

Jo Km ,\I'{‘—-\
S
;%L%i-ﬂwagﬂmﬁmr hﬂf
2. SE > Thor-gof =

3. S0km

4' WH NI
70 @ Y AL = 4‘253‘;‘2#1
‘ = | Yootueo
6 I %T%Tfﬁ?F e
Ans = 2042 kM

@ D= 80 k™

Q= 15 knilh
e, oD RS A
{rf‘r"lf % T - .T_'!’__ ] 5"'—5 - 54‘%}&#& e E:Eb my

* vH_’:T i Fﬁ‘g ﬂ'? S mrds #‘_“E‘:’_ "‘.JFM_:— 55
Tedalz §:2ort26 =5i46m /ﬂ"ﬂ-—35f~4-ﬁm


































